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Corrigé du sujet n°2

Epreuve : Anglais Baccalauréat général 2" groupe session 2016

Filiere SG Durée de I'épreuve : 3 heures — Coefficient : 4

Contenus Comp’rehen5|on Exp’re§5|on Total
écrite écrite
Série SG 12 8 30

1) COMPREHENSION : (12 points)

I.  MULTIPLE CHOICE QUESTIONS. CIRCLE THE RIGHT ANSWER (1 POINT/ QUESTION)
b. an article.
b. urbanization.
a. increasing.

Il. ARE THE FOLLOWING SENTENCES TRUE OR FALSE? JUSTIFY YOUR ANSWERS BY QUOTING
FROM THE TEXT.(1 POINT/QUESTION)

True :'A century ago’

True :‘It says worsening inequalities, driven by social divisions and differences in wealth’
False:'‘But urban economies still provide possibilities that rural areas do not.

False:‘the loss of its main industry, steel, to its rebirth as a smaller city with different industries!

True : ‘Women entering the labor force is one big change and that always goes up with
urbanization’

1ll. ANSWER THE FOLLOWING QUESTIONS (4 POINTS)

The fact that people move from big and major cities to smaller cities or rural areas. (accept
similar answers) (1 point).

In urban farming (1 point).

Urbanization can lead to social and economic progress, but also pressure on cities to provide
housing and services!

Even though urbanization may create better social and economic development, it nevertheless
requires cities to provide enough accommodation/houses and sufficient public services such
as hospitals, schools, roads, different administrations for the people who move in (2 points).
(Accept similar answers).
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1) WRITING : (8 points)

Assessment is based on syntax, morphology and spelling.

Marks Error
8 no or only few minor errors
6 Limited occasional errors
4 a number of errors without impairing the reader’s understandings.
2 Major errors that paired the reader’s understanding
1 So many errors that the text is (almost) impossible to understand.
0 When the writer didn't do anything
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